Filters: Start Date - 9/23/2000; End Date - 9/23/2025; Equipment - 331G JD SKID STEER [8956]

A08-5

Work Order: Equipment: 21627

331G JD SKID STEER [8956]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: 1938 Hr: 2224 Status: Serial Number:

Business Unit:

Start Date:

Stop Date:

Transferred

1T0331GKVMF396633

Machinery

6/24/2021 6/24/2021

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
DAVE HUNT	2.50 RT	Shop Mech Field	\$54.00	\$135.00
JOHN GIBERSON	6.50 RT	Shop Mech Rky	\$50.00	\$325.00
			Total Labor	\$460.00
BALL STUD [KNA 9214PK]	2.00 Each	1	\$30.69	\$61.38
FILTER-STRAINER [2822270]	1.00 Each	1	\$38.34	\$38.34
FIRST AID KIT ALBERTA LEVEL1 (BAG) [F881N260]	1.00 Each	1	\$15.83	\$15.83
GAS SHOCK - 20" EXT 40LBS [B120000800040]	1.00 Each	1	\$15.75	\$15.75
SKIDSTEE [T242805SH]	1.00 Each	1	\$128.54	\$128.54
WINDOW GLASS [T344818-14PC]	1.00 Each	1	\$854.05	\$854.05
			Total Parts	\$1,113.89
			Total Equip	\$0.00
			Total Cost	\$1,573.89

Item ID	Description	Completed By	Reported Hours
39216	8956 - rig p	Carla Merklin	9.00
Work Orde	r: 25215	Status:	Transferred
Equipment	: 331G JD SKID STEER [8956]	Serial Number:	1T0331GKVMF396633
Work Loca	tion: Current Equipment Location	Business Unit:	Machinery
Created by	: Randy Wearmouth	Start Date:	10/27/2021
Kms:	1938	Stop Date:	11/5/2021
Hr:	2224		

Description	Quantity Labor Type	Rate	Total
STEVEN MICKLEBORO	4.00 RT Shop Lube	\$38.00	\$152.00
		Total Labor	\$152.00
FILTER AIR {P828889, 1106326} [AF25557]	1.00 Each	\$24.28	\$24.28
FILTER AIR {P829333, 1106331} [AF25558]	1.00 Each	\$13.15	\$13.15
FILTER LUBE SPIN-ON {MIU800650,P502051} [LF3776]	1.00 Each	\$14.48	\$14.48
		Total Parts	\$51.91
		Total Equip	\$0.00
		Total Cost	\$203.91

Item ID	Description	Completed By	Reported Hours
46227	0250 Hour Service	Carla Merklin	4.00

* Change engine oil.
* Change engine filters -- oil and air.
* Check all fluids.
* Complete grease.
* Sample engine oil.

Work Order:

31026

Equipment:

331G JD SKID STEER [8956]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

1938 2224 Status:

Serial Number:

Business Unit: Start Date:

Stop Date:

Transferred

1T0331GKVMF396633

Machinery 4/29/2022

5/5/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
TEVIN FERRIS	6.00 RT	Shop Mech Field	\$59.34	\$356.04
ZANE BARNETT	5.00 RT	Shop Mech Field	\$54.00	\$270.00
			Total Labor	\$626.04
CUTTING EDGE [KV12471]	1.00 Each	1	\$171.00	\$171.00
			Total Parts	\$171.00
	-		Total Equip	\$0.00
			Total Cost	\$797.04

Item ID	Description	Completed By	Reported Hours
56884	8956 - check over	Carla Merklin	11.00
Work Order:	33062	Status:	Transferred
Equipment:	331G JD SKID STEER [8956]	Serial Number:	1T0331GKVMF396633
Work Locatio	on: Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	7/4/2022
Kms:	1938	Stop Date:	7/22/2022
Hr:	2224	·	==

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	6.00 RT	Shop Mech Field	\$59.34	\$356.04
			Total Labor	\$356.04
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$356.04

Item ID	Description	Completed By	Reported Hours
60871	8956 -codes	Carla Merklin	6.00

34215

Equipment:

331G JD SKID STEER [8956]

Work Location: Created by:

Current Equipment Location

Kms:

Stockton Pollitt

Hr:

1938 2224 Status:

Start Date:

Stop Date:

Serial Number: Business Unit:

1T0331GKVMF396633 Machinery

Transferred

8/19/2022

8/19/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	3.00 RT	Shop Lube	\$41.17	\$123.51
			Total Labor	\$123.51
FILTER [MIU805005 {XR MIU802154}]	1.00 Each	1	\$77.03	\$77.03
FILTER AIR {P828889, 1106326, KV16429, AT171853} [P828889]	1.00 Each	1	\$60.14	\$60.14
FILTER AIR {P828889, 1106326, KV16429, AT171853} [P828889]	1.00 Each	ļ	\$34.15	\$34.15
FILTER AIR {P829333, 1106331, AT171854} [AF25558]	1.00 Each	1	\$22.46	\$22.46
FILTER LUBE SPIN-ON {MIU800650,P502051} [LF3776]	1.00 Each	1	\$17.66	\$17.66
			Total Parts	\$211.45
			Total Equip	\$0.00
***************************************			Total Cost	\$334.96

Item ID	Description	Completed By	Reported Hours
62128	0500 Hour Service	Carla Merklin	3.00

* Change engine oil.

* Change engine filters -- oil and air.

* Change fuel filter.

* Check all fluids.

* Complete grease.

* Sample all oils.

Work Order:	36381	Status:	Transferred
Equipment:	331G JD SKID STEER [8956]	Serial Number:	1T0331GKVMF396633
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Marvin Feddema	Start Date:	10/24/2022
Kms:	1938	Stop Date:	10/27/2022
Hr:	2224		

Description	Quantity	Labor Type	Rate	Total
JOHN GIBERSON	4.50 RT	Shop Mech Rky	\$49.05	\$220.73
			Total Labor	\$220.73
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$220.73

Item ID	Description	Completed By	Reported Hours
67018	8956 fix door handle	John Giberson	4.50

8956 flx door handle

Work Order:

38511

Equipment:

331G JD SKID STEER [8956]

Work Location:

Current Equipment Location

Created by:

Brittinni Lockard

Kms: Hr:

1938 2224

Status:

Serial Number:

Transferred

1T0331GKVMF396633

Business Unit:

Start Date: Stop Date:

Machinery 1/10/2023 1/10/2023

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
LEVI LOOMIS	0.50 RT Shop Mech	Field \$59.34	\$29.67
		Total Labor	\$29.67
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$29.67

Notes: 719HRS

Item II	Description	Completed By	Reported Hours
70946	0250 Hour Service	Brittinni Lockard	0.50

- * Change engine oil.
- * Change engine filters -- oil and air.
 * Check all fluids.
 * Complete grease.

- * Sample engine oil.

Work Order:

41458

Equipment:

331G JD SKID STEER [8956]

Work Location:

Current Equipment Location Carla Merklin

Created by:

1938

Kms: Hr:

2224

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

1T0331GKVMF396633 Machinery

Transferred

4/14/2023

4/14/2023

Description	Quantity Labor Type	Rate	Total
JOHN GIBERSON	2.50 RT Shop Mech Rky	\$49.05	\$122.63
		Total Labor	\$122.63
BULB 55W [H355]	2.00 Each	\$3.46	\$6.93
		Total Parts	\$6.93
		Total Equip	\$0.00
		Total Cost	\$129.55

Item II	Description	Completed By	Reported Hours
76512	8956 - checkover	John Giberson	2.50

Work Order: 42727 Status: Transferred **Equipment:** 331G JD SKID STEER [8956] **Serial Number:** 1T0331GKVMF396633 **Work Location: Current Equipment Location Business Unit:** Machinery Created by: Brittinni Lockard **Start Date:** 5/26/2023 Kms: 1938 **Stop Date:** 5/26/2023 Hr: 2224

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN BARGEN	4.50 RT	Shop Mech Field	\$59.34	\$267.03
			Total Labor	\$267.03
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$267.03

Item ID	Descrip	tion	Completed By	Reported Hours
78772	8956 - R	EPAIRS	Brittinni Lockard	4,50
Work Orde	r:	43772	Status:	Transferred
Equipment	:	331G JD SKID STEER [8956]	Serial Number:	1T0331GKVMF396633
Work Loca	tion:	Current Equipment Location	Business Unit:	Machinery
Created by	:	Carla Merklin	Start Date:	7/11/2023
Kms:		1938	Stop Date:	7/11/2023
Hr:		2224		

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	6.00 RT	Shop Lube	\$41.17	\$247.02
			Total Labor	\$247.02
FILTER {XR MIU802154} [MIU805005]	1.00 Each	1	\$81.33	\$81.33
FILTER AIR {P828889, 1106326, KV16429, AT171853, AF25557} [P828889]	1.00 Each	1	\$55.63	\$55.63
FILTER AIR {P829333, 1106331, AT171854} [AF25558]	1.00 Each	1	\$43.90	\$43.90
FILTER FUEL {FLG: FF5006, NAPA: NGF3003, JD: AT101565} [P550090]	1.00 Each	1	\$6.16	\$6.16
FILTER FUEL {FLG: WF10369} [MIU802421]	1.00 Each	1	\$44.17	\$44.17
FILTER HYDRAULIC {JD: AT367635, FLG: HF35299} [P174552]	2.00 Each	1	\$44.62	\$89.24
HYDRAULIC FILTER [AT495722]	1.00 Each	1	\$158.86	\$158.86
R-12DC VALVE RELAY [800650]	1.00 Each	1	\$142.50	\$142.50
			Total Parts	\$621.79
			Total Equip	\$0.00
			Total Cost	\$868.81

Item ID	Description	Completed By	Reported Hours
80281	1000 Hour Service	Anthony Rodriguez	6.00

- * Change all filters.
 * Change engine oil.
 * Change final drive oil.
 * Change hydraulic oil.
 * Check all fluids.
 * Complete grease.
 * Sample all oils.

45729

Status:

Transferred

Equipment: Work Location: 331G JD SKID STEER [8956] **Current Equipment Location**

Serial Number:

1T0331GKVMF396633

Business Unit:

Machinery

Created by:

Brittinni Lockard

Start Date: Stop Date:

8/30/2023 8/30/2023

Kms: Hr:

1938 2224

Descrip	tion	Quantity	Labor Type	Rate	Total
LEVI LO	OMIS	3.00 RT	Shop Mech Field	\$59.34	\$178.02
				Total Labor	\$178.02
ANCHOR	[T413976]	1.00 Each		\$282.42	\$282.42
ANCHOR	[T413976]	1.00 Each		(\$282.42)	(\$282.42)
ANCHOR	T413975[Custom]	1.00 Each		(\$233.44)	(\$233.44)
ANCHO	T413975[Custom]	1.00 Each		\$233.44	\$233.44
CUTTIN	G EDGE [KV12471]	1.00 Each		\$215.44	\$215.44
PINPIN	(V12914[Custom]	2.00 Each		(\$1.97)	(\$3.94)
PINPIN	(V12914[Custom]	4.00 Each		\$1.97	\$7.88
WASHE	KV12914[Custom]	2.00 Each		(\$23.70)	(\$47.40)
				Total Parts	\$171.98
				Total Equip	\$0.00
				Total Cost	\$350.00

Item ID	Description	Completed By	Reported Hours
83868	8956 - CUTTING EDGE	Brittinni Lockard	3.00

47151

Equipment:

331G JD SKID STEER [8956]

Work Location:

Current Equipment Location

Created by:

Brittinni Lockard

Kms: Hr:

1938 2224

Status:

Serial Number:

Transferred 1T0331GKVMF396633

Business Unit: Start Date:

10/11/2023

Stop Date:

10/11/2023

Machinery

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
TREVOR IRONSIDE	11.00 RT	Shop Weld Field	\$55.71	\$612.81
			Total Labor	\$612.81
			Total Parts	\$0.00
	"		Total Equip	\$0.00
L.			Total Cost	\$612.81

Item ID	Description	Completed By	Reported Hours
86895	8956 - REPLACE WEAR PLATES	Brittinni Lockard	11,00
Work Order	47285	Status:	Transferred
Equipment:	331G JD SKID STEER [8956]	Serial Number:	1T0331GKVMF396633
Work Locati	on: Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	10/16/2023
Kms:	1938	Stop Date:	10/16/2023
Hr:	2224		

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	1.00 RT	Shop Lube	\$41.17	\$41.17
			Total Labor	\$41.17
			Total Parts	\$0.00
			Total Equip	\$0.00
<u> </u>			Total Cost	\$41.17

Item ID	Description	Completed By	Reported Hours
87108	0250 Hour Service	Anthony Rodriguez	1.00

- * Change engine oil.
 * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.
 * Sample engine oil.

47718

Equipment:

331G JD SKID STEER [8956]

Work Location:

Current Equipment Location

Created by:

Brittinni Lockard

Kms: Hr:

1938 2224 Status:

Serial Number:

Business Unit:

Start Date: Stop Date:

Transferred

1T0331GKVMF396633

Machinery 10/26/2023 10/26/2023

Work Order Cost Summary

Descri	tion	Quantity	Labor Type	Rate	Total
AARON	SAMUELSON	4.50 RT	Shop Mech Field	\$59.34	\$267.03
				Total Labor	\$267.03
CUTTIN	6 BLADE 84" (7') 8 BOLT 3/4 X 2-1/4" [KV12471X]	1.00 Each	1	\$153.65	\$153.65
				Total Parts	\$153.65
				Total Equip	\$0.00
		-		Total Cost	\$420.68

Item ID	Descrip	tion	Completed By	Reported Hours
83875	8956 - cı	utting edge	Brittinni Lockard	4.50
Work Orde	r:	48839	Status:	Transferred
quipment	:	331G JD SKID STEER [8956]	Serial Number:	1T0331GKVMF396633
Nork Local	tion:	Current Equipment Location	Business Unit:	Machinery
Created by	:	Brittinni Lockard	Start Date:	11/29/2023
(ms:		1938	Stop Date:	11/29/2023
ir:		2224		•

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	1.00 RT	Shop Lube	\$41.17	\$41.17
			Total Labor	\$41.17
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$41.17

Item ID	Description	Completed By	Reported Hours
			· · · · · · · · · · · · · · · · · · ·
89881	0250 Hour Service	Brittinni Lockard	1.00

- * Change engine oil.
 * Change engine filters -- oil and air.
 * Check all fluids.

- * Complete grease.
 * Sample engine oil.

49782

Equipment:

331G JD SKID STEER [8956]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr: 1938 2224 Status:

Serial Number:

Transferred 1T0331GKVMF396633

Business Unit:

Start Date:

Machinery

Stop Date:

1/5/2024 1/5/2024

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN BARGEN	5.00 RT	Shop Mech Field	\$59.34	\$296.70
			Total Labor	\$296.70
			Total Parts	\$0.00
			Total Equip	\$0.00
<u>Caranteering</u>			Total Cost	\$296.70

Item ID	Description	Completed By	Reported Hours
91448	8956 - reseal Ih boom cylinder	Carla Merklin	5.00
Work Orde	r: 50197	Status:	Transferred
Equipment	: 331G JD SKID STEER [8956]	Serial Number:	1T0331GKVMF396633
Work Locat	cion: Current Equipment Location	Business Unit:	Machinery
Created by	: Carla Merklin	Start Date:	1/22/2024
Kms:	1938	Stop Date:	1/22/2024
Hr:	2224		

Description	Quantity	Labor Type	Rate	Total
JOHN BARGEN	3.50 RT	Shop Mech Field	\$59.34	\$207.69
			Total Labor	\$207.69
			Total Parts	\$0.00
			Total Equip	\$0.00
L			Total Cost	\$207.69

Item ID	Description	Completed By	Reported Hours
92079	8956 - t/s not start	Brittinni Lockard	3.50

52705

Equipment:

331G JD SKID STEER [8956]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

1938 2224 Status:

Serial Number:

Closed 1T0331GKVMF396633

Business Unit:

Machinery

Start Date: Stop Date:

4/3/2024 4/3/2024

Work Order Cost Summary

Descrip	tion	Quantity	Labor Type	Rate	Total
JOHN G	BERSON	10.50 RT	Shop Mech Rky	\$49.05	\$515.03
				Total Labor	\$515.03
DEF CO	/ER LATCH [AT472986]	1.00 Each		\$194.59	\$194.59
DOOR S	HOCK {B120000800040 } [T355362]	1.00 Each	ı	\$16.00	\$16.00
PLUG [N	102025]	1.00 Each		\$18.37	\$18.37
				Total Parts	\$228.96
		-		Total Equip	\$0.00
				Total Cost	\$743.99

Item ID Des	cription	Completed By	Reported Hours
96794 895	6 - CHECKOVER	Carla Merklin	10.50
Work Order:	55433	Status:	Closed
Equipment:	331G JD SKID STEER [8956]	Serial Number:	1T0331GKVMF396633
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	,
Kms:	1938	Stop Date:	
Hr:	2224	·	

Work Order Cost Summary

Descripti	ion	Quantity	Labor Type	Rate	Total
HERMAN	N KUKOWSKI	2.50 RT	Shop Mech Field	\$59.34	\$148.35
				Total Labor	\$148.35
36 MM BC	DRE CYLINDER SEAL KIT [AH212088]	1.00 Each	1	\$16.60	\$16.60
PLUG [N1	02025]	1.00 Each	1	(\$18.37)	(\$18.37)
SEAL KIT CYL KIT {	45.00MM- ROD 450/650J TILT/ANGLE CYLINDER/BLADE SLIDE {AH149813} [AHC11572]	1.00 Each	1	\$149.08	\$149.08
				Total Parts	\$147.31
				Total Equip	\$0.00
			· · · · · · · · · · · · · · · · · · ·	Total Cost	\$295.66
Item ID	Description		Completed By	Reported Hour	S
101529	8956 - CHECKOVER		Carla Merklin	2.50	

Carla Merklin

2.50

57007

Equipment:

331G JD SKID STEER [8956]

Work Location: Created by:

Current Equipment Location

Kms:

Jeremy Detema

Hr:

1938 2224 Status:

Serial Number:

Business Unit: Start Date:

Stop Date:

Closed

1T0331GKVMF396633

Machinery

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	2.00 RT	Shop Lube	\$41.17	\$82.34
			Total Labor	\$82.34
FILTER AIR {CAT: 1106326, JD: KV16429, JD: AT171853, FLG: AF25557} [P828889]	1.00 Each	1	\$30.92	\$30.92
FILTER AIR (FLG: AF25558, CAT: 1106331, JD: AT171854) [P829333]	1.00 Each	1	\$17.62	\$17.62
FILTER FUEL {JD: MIU802154} [MIU805005]	1.00 Each	ı	\$94.21	\$94.21
FILTER FUEL WF10369 [MIU802421]	1,00 Each	1	\$52.50	\$52.50
FILTER LUBE SPIN-ON {LF3776, JD: 46495073, MIU800650} [P502051]	1.00 Each	1	\$7.41	\$7.41
			Total Parts	\$202.67
			Total Equip	\$0.00
		W.C.	Total Cost	\$285.01

Item ID	Description	Completed By	Reported Hours
103508	0500 Hour Service	Carla Merklin	2.00

- * Change engine oil.
- * Change engine filters -- oil and air. * Change fuel filter.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: Equipment:

58482

331G JD SKID STEER [8956] **Current Equipment Location**

Work Location: Created by:

Brittinni Lockard

Kms: Hr:

Item ID

1938 2224

Status:

Serial Number:

Business Unit:

Start Date: Stop Date:

Completed By

Closed

1T0331GKVMF396633

Reported Hours

Machinery

Work Order Cost Summary

Description

Description	Quantity	Labor Type	Rate	Total
TEVIN FERRIS	6.00 RT	Shop Mech Field	\$59.34	\$356.04
			Total Labor	\$356.04
36 MM BORE CYLINDER SEAL KIT [AH212088]	1.00 Each)	\$70.41	\$70.41
SEAL KIT 45.00MM- ROD 450/6503 TILT/ANGLE CYLINDER/BLADE SLIDE CYL KIT {AH149813} [AHC11572]	1.00 Each	1	\$166.67	\$166.67
			Total Parts	\$237.08
			Total Equip	\$0.00
			Total Cost	\$593.12

106994 8956 - LH LIFT CYL LEAKING Carla Merklin 6.00 Work Order: 62977 Closed Status: Equipment: 331G JD SKID STEER [8956] **Serial Number:** 1T0331GKVMF396633 Work Location: **Current Equipment Location Business Unit:** Machinery Created by: Carla Merklin **Start Date:** 1/24/2025 Kms: 1938 **Stop Date:** 1/24/2025 Hr: 2224 **Work Order Cost Summary** Description Quantity **Labor Type** Rate Total JASON HOLLINGSWORTH 8.50 RT Shop Mech Field \$59.34 \$504.39 **Total Labor** \$504.39 WINDOW FRONT SLIDING [AT455634] 1.00 Each \$731.39 \$731.39 **Total Parts** \$731.39 **Total Equip** \$0.00 **Total Cost** \$1,235.78 Item ID Description **Completed By Reported Hours** 115207 8956 - CHECK OVER/SLIDING WINDOW Carla Merklin 8.50 Work Order: 64496 Status: Closed Equipment: 331G JD SKID STEER [8956] Serial Number: 1T0331GKVMF396633 Work Location: **Business Unit:** Machinery Created by: Brittinni Lockard **Start Date:** Kms: 1938 Stop Date: Hr: 2224 **Work Order Cost Summary** Description Labor Type Quantity Rate Total **Total Labor** \$0.00 **Total Parts** \$0.00 **Total Equip** \$0.00 **Total Cost** \$0.00 Item ID Description **Completed By Reported Hours** 118111 0250 Hour Service Brittinni Lockard 0.00 * \$ample engine oil. * Check all fluids. * Complete grease.

64605

Equipment:

331G JD SKID STEER [8956]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

1938 2224

Status:

Serial Number: **Business Unit:**

Closed 1T0331GKVMF396633

Machinery

Start Date: Stop Date:

3/7/2025 3/7/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
DAVE HUNT	13.00 RT	Shop Mech Field	\$59.34	\$771.42
JASON HOLLINGSWORTH	6.00 RT	Shop Mech Field	\$59.34	\$356.04
JOHN BARGEN	3.00 RT	Shop Mech Field	\$59.34	\$178.02
			Total Labor	\$1,305.48
ACTUATOR (AT494284, AT424407) [8862534]	1.00 Each	1	\$469.99	\$469.99
ACTUATOR (AT494284, AT424407) [8862534]	1.00 Each	1	\$1,529.40	\$1,529.40
ACTUATOR (AT494284, AT424407)[Custom]	1.00 Each	1	(\$469.99)	(\$469.99)
COMPRESS KV15409[Custom]	2.00 Each	1	\$18.19	\$36.38
HANDLE CY AT418735[Custom]	1.00 Each	1	\$177.40	\$177.40
LEFT XY AT418734SH[Custom]	1.00 Each	1	\$96.48	\$96.48
PIN FAST [45M7088]	1.00 Each	1	\$18.51	\$18.51
STRAP T265836[Custom]	2.00 Each	1	\$40.54	\$81.08
WIRING H [AT486624]	1,00 Each	1	\$435.75	\$435.75
			Total Parts	\$2,375.00
			Total Equip	\$0.00
			Total Cost	\$3,680.48

Item ID	Description	Completed By	Reported Hours
118293	8956 - BUCKET ACTUATOR	Jason Hollingsworth	22.00

Work Order:	67564	Status:	Closed
Equipment:	331G JD SKID STEER [8956]	Serial Number:	1T0331GKVMF396633
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Charles Hamelin	Start Date:	5/22/2025
Kms:	1938	Stop Date:	5/22/2025
Hr:	2224		

Description	Quantity	Labor Type	Rate	Total
J. HAMELIN	1.50 RT	Shop Lube	\$41.17	\$61.76
			Total Labor	\$61.76
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$61.76

Item ID	Description	Completed By	Reported Hours
123491	8956 - Radio Check & repair	Charles Hamelin	1.50

68295

Equipment:

331G JD SKID STEER [8956]

Work Location:

Created by:

Randy Wearmouth

Kms:

Hr:

1938 2224 Status:

Serial Number:

1T0331GKVMF396633 Machinery

Closed

Business Unit:

Start Date: Stop Date:

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
CUTTING BLADE 84" (7') 8 BOLT 3/4 X 2-1/4" [KV12471X]	1.00 Each	\$170.01	\$170.01
DOOR SHOCK (B120000800040) [T355362]	1.00 Each	\$16.00	\$16.00
		Total Parts	\$186.01
		Total Equip	\$0.00
		Total Cost	\$186.01

Item ID Desc	ription	Completed By	Reported Hours
124750 8956	- DIRECT BILL 2025	Randy Wearmouth	0.00
Work Order:	68418	Status:	Closed
Equipment:	331G JD SKID STEER [8956]	Serial Number:	1T0331GKVMF396633
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	6/10/2025
Kms:	1938	Stop Date:	6/10/2025
Hr:	2224	·	-,,

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	3.00 RT	Shop Lube	\$41.17	\$123.51
			Total Labor	\$123.51
FILTER AIR [AT359416]	1.00 Each		\$32.28	\$32.28
FILTER AIR (AT441536)	1.00 Each		\$34.44	\$34.44
FILTER AIR {CAT: 1106326, JD: KV16429, JD: AT171853, FLG: AF25557} [P828889]	1.00 Each		\$32.44	\$32.44
FILTER AIR (FLG: AF25558, CAT: 1106331, JD: AT171854) [P829333]	1.00 Each		\$19.37	\$19.37
FILTER FUEL {FLG: FF5006, NAPA: NGF3003, JD: AT101565} [P550090]	1.00 Each		\$5.52	\$5.52
FILTER FUEL {JD: MIU802154} [MIU805005]	1.00 Each		\$101.49	\$101.49
FILTER FUEL WF10369 [MIU802421]	1.00 Each		\$55.10	\$55.10
FILTER HYDRAULIC (DON: P174552, FLG: HF35299) [AT367635]	1.00 Each		\$192.97	\$192.97
FILTER LUBE SPIN-ON {JD: 46495073, MIU800650, P502051} [LF3776]	1.00 Each		\$7.60	\$7.60
FILTER TRANS HYDRAULIC [AT495722]	1.00 Each		\$174.35	\$174.35
			Total Parts	\$655.56
			Total Equip	\$0.00
			Total Cost	\$779.07

Item ID	Description	Completed By	Reported Hours
124956	1000 Hour Service	Carla Merklin	3.00

- * Change all filters.
 * Change engine oil.
 * Change final drive oil.
- * Change hydraulic oil.
 * Check all fluids.
- * Complete grease.
 * Sample all oils.

Work Order: **Equipment:**

Work Location:

Created by:

68753

331G JD SKID STEER [8956]

Current Equipment Location Benedict Siwak

Kms: 1938 Hr: 2224

Status:

Serial Number:

1T0331GKVMF396633

Closed

Business Unit: Machinery **Start Date:** 6/16/2025 Stop Date: 6/16/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
BENEDICT SIWAK	5.50 RT	Shop Mech Rky	\$49.05	\$269.78
			Total Labor	\$269.78
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$269.78

Item ID	Description	Completed By	Reported Hours
125437	8956 repairs	Brittinni Lockard	5.50
Work Orde	r: 69242	Status:	Closed
Equipment	: 331G JD SKID STEER [8956]	Serial Number:	1T0331GKVMF396633
Work Loca	tion: Current Equipment Location	Business Unit:	Machinery
Created by	: Brittinni Lockard	Start Date:	6/24/2025
Kms:	1938	Stop Date:	6/24/2025
Hr:	2224		

Descriptio	n	Quantity	Labor Type	Rate	Total
MATTHEW	GERVAIS	3,00 RT	Shop Mech Field	\$59.34	\$178.02
				Total Labor	\$178.02
FILTER FUE	L {JD: MIU802154} [MIU805005]	1.00 Each		\$110.54	\$110.54
FILTER FUE	L WF10369 [MIU802421]	1.00 Each	1	\$55.10	\$55.10
				Total Parts	\$165.64
				Total Equip	\$0.00
				Total Cost	\$343.66
Item ID	Description		Completed By	Reported Hour	s
126118	8956 - NO POWER, REPLACE FUEL FILTERS		Brittinni Lockard	3.00	

70679

Equipment:

331G JD SKID STEER [8956]

Work Location: Created by:

Current Equipment Location

Kms: Hr:

Brittinni Lockard 1938

2224

Status:

Serial Number:

Closed 1T0331GKVMF396633

Business Unit:

Machinery

Start Date: Stop Date: 8/12/2025 8/12/2025

Work Order Cost Summary

Descri	ption	Quantity	Labor Type	Rate	Total
BRIAN I	MACDONALD	4.00 RT	Shop Mech Field	\$59.34	\$237.36
				Total Labor	\$237.36
VIDEO	AMERA [AT560845]	1.00 Each		\$613.48	\$613.48
				Total Parts	\$613.48
ı				Total Equip	\$0.00
				Total Cost	\$850.84

Item ID Descri	ption	Completed By	Reported Hours
128486 8956 -	CAMERA	Brittinni Lockard	4.00
Work Order:	72179	Status:	Closed
Equipment:	331G JD SKID STEER [8956]	Serial Number:	1T0331GKVMF396633
Nork Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	8/25/2025
(ms:	1938	Stop Date:	8/25/2025
Hr:	2224	•	, , =-

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
128830	0250 Hour Service	Carla Merklin	0.00

- * Sample engine oil.
 * Check all fluids.
 * Complete grease.

73465

Equipment:

331G JD SKID STEER [8956]

Work Location:

Current Equipment Location

Created by: Kms:

John Giberson

Hr:

1938 2224 Status:

Serial Number:

Business Unit:

Machinery 9/23/2025

Start Date:

Stop Date:

9/23/2025

Scheduled

1T0331GKVMF396633

 2.00

-